
1. (x − 1)(x − 2)(x − 3)(x − 4) + m 이 완전제곱식이 되도록 하는 상수 m
의 값을 구하여라.

답: m =



2. (x + 2)2 − (x + 2)(y − 1) − 6(y − 1)2을 인수분해하면?

① (x + 3y − 1)(x − 2y + 4) ② (x + 2y + 4)(x − 3y)

③ (x + 3y)(x − 2y) ④ (x − 3y + 5)(x + 2y)

⑤ (x − 3y − 4)(x − 2y + 1)



3. [a, b, c] = (a−b)(a−c)라할때, [a, b, c]− [b, a, c]를인수분해하면,
(xa + yb + zc)(pa + qb + rc) 이다. 이 때, x + y + z + p + q + r 의
값은?

① −1 ② 3 ③ 0 ④ 2 ⑤ −2



4. 다음 중 x2y2 − x2y − xy2 + xy 의 인수는?

① x − 1 ② x + 1 ③ y + 1 ④ x + y ⑤ x − y



5. x =
1

5 − 3
√
3
일 때, x2 +

1

x2
의 값으로 알맞은 것을 고르면?

①
130 + 75

√
5

2
②

130 + 75
√
3

2
③

130 − 45
√
3

2

④
130 + 75

√
5

3
⑤

120 + 75
√
3

2



6. 102

262 + 402 + 492 − 162 − 302 − 392 을 계산하여라.

답:



7. a − b = 2
√
3 일 때, a2 + b2 − 2ab − 3(a − b) − 12 의 값은?

① −6
√
3 ② 1 − 6

√
3 ③ 2 − 6

√
3

④ 3 − 6
√
3 ⑤ 4 − 6

√
3


